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QUESTION 1
Which of the following is a correct statement about XML security?

A. To encrypt an XML document using XML Encryption, the XML document must already have been normalized
(normalizationvia Canonical XML, etc.)

B. To attach a digital signature to an XML document using XML-Signature, the XML document must already have
beennormalized (normalized via Canonical XML, etc.)

C. SSL cannot be used as security when sending an XML document
D. To encrypt an XML document using XML Encryption, character encoding for the XML document must be UTF-16

Correct Answer: B

QUESTION 2

Use XSLT transformation to create XML according to the schema (portions modified for this question) defined by
TravelXML.

Perform XSLT transformation on the "XML Document” using the following "XSLT Style Sheet". Select which of the

following correctly describes the results of performing a validation check on the post-transformation XML against the
schema ("XML Schema" referenced when the Exhibit Button is pushed).
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[EML Document]

<form Xmlns="urn:xmlmastcer ">
<fieldl>Sky Jtar Hotel</fieldl>-
<TiprldZz</Tirldl>
<fieldir</fieldix

</ forms>

[EZLT 2twyle Sheet]

<xsl:ztylesheet wversion="1.0"
¥mwlns:xsl="http:/ www. wI.ocgf 1999/ X381/ Transform"
*mwlns: fw="urn: xmlmaster”
exclude-result-prefixes="Tfm">

<xsl:template match="7;">
“xsl:element nasme="EBookingWotification™
mlns="http:/svww. xmlns.orc/ 2003/ Trave LEML ">
<xzl:ielement name="liccommodationInfornation’:>

«xzl:elenent name="iccommodationMame ">
<xsli:value—aof select="fm:form/ fn: fiseldl™ />
</fx=zl:element:
£¥sl:1if tesc="fm:form/fm:fielda/cexc () "=
<z liglement name="Chainllames ">
<uzl:ivalus—of select="fm:forn'fm: fisld2™ />
<fxzlielement:
<fusliifr
<xzl:if test="fm:form/fm:fieldld/ cexn () ">
<xsl:ielement name="AccomuodatiorPhoneNunber ™=
<mal:value—-of select="fm:Tforn/fm:Lield3d™ /=
<fwsl'elements
<fusl:ifs

<f/usl:elementcr
zfwsl:elements
<fxsl:templates
</xsl:istylesheet:>

A. The root element (document element) of the post-transformation XML is an empty element, and the post-
transformationXML is not valid against the schema

B. The post-transformation XML does not include the required elements defined by the schema (all elements defined
oncethey have appeared, namespace reflected); therefore, is not valid

C. The post-transformation XML includes all of the required elements defined by the schema (all elements defined
oncethey have appeared, namespace reflected); however, is not valid

D. The post-transformation XML is valid

Correct Answer: D

QUESTION 3

Process the following "XML Document" according to the method shown by "DOM Processing," and output "article" (by
print method). Select which of the following correctly describes what should be in (1) for "DOM Processing"
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[ZHML Document]
<oontentrarticled/contents>

[DOM Processing)
Process ZEML using the following method.
printXEML (| doc ):

The var igbile duoc here pelfereaces Lhe Docwuaneol iosLooce of Lhe loaded XML duc anenl .

public static wvold printXML{ Docuwment doc ] {
Element contenz = doc.getDocumentElemeat () ;
System.out.priat| —————— [l —————— :

¥

A. content.getText()

B. content.getNodeValue()

C. content.getChildNode().getNodeValue()
D. content.getFirstChild().getNodeValue()

Correct Answer: D

QUESTION 4

Which of the following is incorrect with respect to XML?

A. An XML document features high data readability

B. An XML document can be transmitted over general-use protocols such as HTTP and SMTP
C. XML is designed with the ideal structure for storage in an RDB (relational database)

D. Some RDBs (relational databases) can output results data in XML format

Correct Answer: C

QUESTION 5
Which of the following text strings is not output to the results document when performing an XSLT transformation on the

following "XML Document” using the "XSLT Style Sheet" below? Note that the XSLT processor can output
transformation results as a document.
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[ZML Document]
<doc N3l:titcle="Title™ xmlns="http://www.xmlinaster.org/ exam”
xmlnz i N3l="http://wuw,. xmlaster. org, exam™>

<hbody NZl:zection="value™ xmlna=r"r:
<MN31l:content:-Content</N31:content>
</body>
</ doc

[E3LT Style Sheet]
<ztylesheet version="1.0" xmwlns="http:// wmww.wld.orgl 1999/ 5L Transform"™
xinln=::N31="http://www. xolmastcer .. orgf exem™ >
<output method="text™ />
<template match="/":>
<apply—-templates select="descendant::*/attribute: N31:% | descendant::N31:%"/ >

</template:>

<template match="+ | attrikute::*"z<value-of select="name ()" >, </ templace:
</atylesheets

A. doc

B. NSl:itle

C. body

D. NS1l:section
E. NS1l:content

Correct Answer: C
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